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Past Exam Questions

Section 6.5
1. The graph of  
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 has relative minimums in the interval 
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[image: image3.wmf]5

and

88

xx

pp

==

    
2. If  
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, then the number of vertical asymptotes over the interval 
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 Answer: 
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3. Fine the number of points of intersections between the line 
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  Answer: 
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4. The number of vertical asymptotes of the graph of 
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  Answer: 
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5. Sketch the graph of  
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  Answer:  
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6. Sketch the graph of  
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, then state the intervals on which the function 
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  Answer:  
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7. The number of  x-intercepts of the graph of  
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Answers: 
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8. Find the range of the function  
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Answer: 
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9. Find the equation of the line of symmetry of the graph 
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10. If T is a vertical translation, S is the phase shift and P is the period of the graph of 
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 Answer: 
[image: image32.wmf]17

p

=-

    

11. The graph of the function 
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12. The period P and the phase shift S of the function 
[image: image37.wmf]()2sec5

34

x

fx

p

æö

=--+

ç÷

èø

 are:

  Answer: 
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13. Which one of the following statements is TRUE about the graph of 
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a. The graph is decreasing on 
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b. The graph has three vertical asymptotes.
c. The graph has one y-intercept.
d. The graph has five vertical asymptotes.
e. The graph has five x-intercepts.   

  Answer: 
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14. If P is the period and S is the phase shift of the function 
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  Answer:  
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If the given graph represents the function 
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Answer: 
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